B RESR
AVFYORT ST~ KILK

AOFY DX RILN - RANZ—Fa—k

EH 22120.

+AE

EmiA

AVFVIRTZUDv—R, AVFYIVAROREBVET
DAV TY IR RILNGPETHBENBHRTT,

e

MK
- MREIE, BF

« A7 LA 1.4305 ( SUS30348 )

avso- e
« AT M=), AN

o AT L A8 1.4305 ( SUS303#8 ) |

YTV F

/7
- PA6., E(2®HL)

(LIMLRULEEERRREERRRRANARRR Y

#3z

FAARRU A NT— (EH22120.) 2> T
THEOMNEEEZERADENTELT,

:OE N

A= REBHORAT TR, /T&B|E,
JYFETWREESENE, OV IEVES]

ERENTRETREENET
B3R

fwE

2R TTRE
Ovo- +vY MBI TY,
ZOftORE

s OT—FAYIT VI, ATV IR
N

C FARRVA AT, AVFY AR
A

=l == [11]
= | Az
= —E#& l i J -
E o
i %4
LL: d2
B 1 B2 K=l KA
HE1A52
tNHALDER °

hiX: 13.10.2023



H- AR

ATV IORTZ Ty —/ Rk

iR
& ZHiE Nz & [
d, d; d; l4 I I3 Iy Fq F, min. max.
-0,02 3 min. -0,15 % %
-0,05
[mm] [mm] [N] [°C] [a]
A=)l KRB L - R 1, 1REIE
6 M12x 1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0226
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 62 22120.0228
A=)l REEA - R 2, REIE
6 M12x 1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0236
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 60 22120.0238
A—I)L REEEL -R1, ATV L AHE
6 M12x 1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0246
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 62 22120.0248
R—I) REBH -R 2, A7V L A
6 M12x 1,5 25 45 6 10 5 17 7 19 -30 80 35 22120.0256
8 M16 x 1,5 31 54 8 12 6 19 14 24 -30 80 60 22120.0258
Va9
ToEYU—
Ti& LYFH4X [ 1
d;
[mm] [mm] [a]
Ov 23 v NSO 8675 (DIN 439), i
M12x 1,5 18 7.5 22120.0116
M16 x 1,5 24 15,0 22120.0118
Ov 23 ¥ SO 8675 (DIN 439), A5 L A
M12x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518

(RO OCATRCARRRRARY

)
»
¥

X)

i
e

%

ESQVTIATUA

HAOESTERICOVTE., ENOREESEZERL TKEEL,

tNHALDER

HE2M52
hiX: 13.10.2023


http://halder.com/jp/22120.0226
http://halder.com/jp/22120.0228
http://halder.com/jp/22120.0236
http://halder.com/jp/22120.0238
http://halder.com/jp/22120.0246
http://halder.com/jp/22120.0248
http://halder.com/jp/22120.0256
http://halder.com/jp/22120.0258
http://halder.com/jp/22120.0116
http://halder.com/jp/22120.0118
http://halder.com/jp/22120.0516
http://halder.com/jp/22120.0518

